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Section : Language Proficiency Test

Q@1 A person who likes to spend time with others is called as:
Ans  of 1. Extrovert

& 2 Reserved TeCh OfWO rld . I n

X 3. Introvert
& 4 Cold fish

Question ID : 16794326384
Status : Answered
Chosen Option: 1

Q2 Change the following sentence into reported speech.
Rohith has said, “I cannot displease my friend”.

Ans o 1. Rohith has said that he cannot displease his friend.
X 2. Rohith says that he cannot displease his friend.

2< 3. Rohith has said that he could not displease his friend.
/< 4. Rohith said that he could not displease his friend.

Question ID : 16794326391
Status : Answered
Chosen Option : 3

@3 Fill in the blanks with the appropriate words.
The match before I the stadium.

Ans o 1. Had begun. reached.
X 2. Has begun, reached

X 3. Began, reached.

/< 4. Began, had reached

Question ID : 16794326400
Status : Answered






l Chosen Option : 3

@4 Spot the error in the following sentence.

He was sitting besides his mother for a long time.
Ans X 1. No error
X - for long time. Techofworld.In
/< 3. He was sitting
v . besides his mother

Question ID : 16794326398
Status : Answered
Chosen Option: 2

@5 Change the voice:
We wish you to forget this episode.

Ans o 1. We wish this episode to be forgotten by you.
/< 2. We wish that you will forget this episode.
/< 3. We wish this episode should be forgotten by you.

/< 4. We wish this episode is not remembered by vou.

Question ID : 16794326388
Status : Answered
Chosen Option: 1

@6 Change the following sentence into quoted speech.

He bade good bye to his friends.
Ans X 1. He remarked, “Good bye friends™.
' 2. He said, “Good bye friends”.
/< 3. He said, “Good bye to his friends™.
/< 4. He told, “Good bye friends”.

Question ID : 16794326386
Status : Answered
Chosen Option : 3

Q7 Antonym of: Quixotic
Ans ¢ 1. Whimsical

< 2. Impulsive

#< 3. Chivalrous

' 2 Thoughtful




Question ID : 16794326399
Status : Answered
Chosen Option: 1

Q8 Meaning of: Hit on something.
Ans 1. To reply to criticism.
< 2. Hit somebody harder.
/X 3. Tell somebody something.
' 2 To suddenly have an idea.

Question ID : 16794326395
Status : Answered
Chosen Option: 1

Q9 Change the voice:

Let us help him. TeChOfWO rld ) I N

Ans 1. He was helped by us.
« 2 Let he be helped.
< 3. Let he help us.
7< 4. Let he help himself.

Question ID : 16794326393
Status : Answered
Chosen Option : 2

0

Ans X 1. Verminophobia

/< 2. Microphobia
/< 3. Pvrophobia
+ 2. Xenophobia

Q1 Fear of strangers , foreign people, and customs is known as:

Question ID : 16794326392
Status : Answered
Chosen Option : 1

1

Human rights the foundation for are

In the world freedom. justice and peace

Ans X1,

Q1 Rearrange the shuffled sentence into a meaningful one.

In the world the foundation for freedom and peace are human rights.




X2

Human rights are in the world the foundation for freedom, justice and peace

g}

In the world the foundation for freedom, justice and peace are human rights.

W

Human rights are the foundation for freedom, justice and peace in the world.

Question ID : 16794326390
Status : Answered
Chosen Option : 4

Q.1

, Spot the error in the following sentence.

Trees and plants had a vital role in our lives.

Ans X 1. Trees and plants

2 2 BT Techofworld.In

' 3. had a vital role
/< 4 No error.

Question ID : 16794326389
Status : Answered
Chosen Option : 1

%" Choose an appropriate meaning of this idiom.
Thick skinned.
Ans  of 1. Callous
/< 2. Malignant
< 3. Atrocious
< 4 Humane

Question ID : 16794326402
Status : Answered
Chosen Option : 2

Q.1 Identify the error in the sentence given below.
4

Fever can be defined as a condition of the body on which the temperature goes above the normal.

Ans & 1. Fever can be defined
X 2. above the normal
+’ 3. on which the temperature goes

/< 4. as a condition of the body

Question ID : 16794326387
Status : Answered
Chosen Option : 3




Qé‘ What does the phrase “crocodile tears mean™?

Ans X' 1. Wholeheartedness.
& 2. Truthfulness.

# 3. A sincere sign of sorrow or sympathy.

' 2. An insincere sign of sorrow or sympathy.

Question ID : 16794326385
Status : Answered
Chosen Option : 4

061 Identify an incorrect word:

Ans O 1. Antediluvian TeCh OfWO rld . I n

X 2. Meticulous
v 3. Generlization
/< 4 Boondoggle

Question ID : 16794326383
Status : Answered
Chosen Option : 4

@1 Synonym of: Brittle
Ans X 1. Moveable
/< 2. Durable

/< 3. Unbreakable
« 2 Fragile

Question ID : 16794326397
Status : Answered
Chosen Option : 4

Q"I " . ,- -
g Fill in the blank with the appropriate word.

She has an aptitude music.

Ans X 1. Over
X 2 To
X3 In

« 4 For

Question ID : 16794326396
Status : Answered
Chosen Option: 3

&7 Identify the incorrect word:

Ans 2 1. Immemorial




/< 2. Spiritualized
/X 3. Lugubrious
« 4 Trecentenary

Question ID : 16794326394
Status : Answered
Chosen Option: 3

@2 Identify the error in the sentence given below.

Amana might have covered half of her journey by next Monday.
Ans 1. half of her journey
' 2. Amana might have covered

X 3. by next Monday. TeCh OfWO rld ) I N

/< 4. No improvement.

Question ID : 16794326401
Status : Answered
Chosen Option : 3

22 QUeMCrR - & 1] IRI6 QAR OPT @617
Ans X 1. GREe!

X 2 qI0@ae g0

X 3. @Ak Qe

v 4 GaR Age

Question ID : 16794326413
Status : Answered
Chosen Option : 2

% fog ofriRe sriq QIed §4?
Ans of 1 QRQ

X 2 Qlag

X 3. @giFie

X 4 ofig

Question ID : 16794326406
Status : Answered
Chosen Option : 3

2?2 QIR AEPIR ARR - 9@ J96R @Sl 6@ ?
Ans X 1. BRIG




X 2 gaal
< 3 ey
v & ﬁqr;l

Question ID : 16794326415
Status : Answered
Chosen Option : 4

2?2 ‘2@’ 6107 6aal 260 QURTIR QU ?
Ans 1. PIgRY EIFd6Q)

X 2. 6QIFI"S 2@ Techofworld.In

V'3 Gio 2l
X 4 gae 2elsa

Question ID : 16794326417
Status : Answered
Chosen Option : 1

%2 2gIeYl Slaq 21 ?
Ans X 1. RGISY
X2 556
v 3 QRIGRIR
X 4 2086

Question ID : 16794326421
Status : Not Answered
Chosen Option : --

Qéz @ImOIol @i FlIEl @6 - §lie IdIds] @6l |

A of 1. BEEER QYD BIAYR RiTe QFTISS |
X 2 QiR 6n @2l @IRl 18l KISaI6S |
X 3. 2EER 9GQ)
X 4 PR 6RIF S0P @0lQ|

Question ID : 16794326414
Status : Answered
Chosen Option : 1

22 qIFe FRIeE &4 ?
Ans X1 PR QI

Vv 2 Qiopl 91
X 3 @91qk QId




X 4 QRAIF Q1g

Question ID : 16794326410
Status : Answered
Chosen Option : 2

2?2 9@ ogia 6@60 @G| ?
Ans X 1. QI8@E!

V2 oiEae) Techofworld.In

X 3 Ghaa
X 4 Qe

Question ID : 16794326405
Status : Answered
Chosen Option: 2

92 Fay - AE 6mel |

Ans x 1. @ﬁ\

X2 &y

W 3 dlig

X 4 3y

Question ID : 16794326416
Status : Answered
Chosen Option : 1

Q.3

o dovdsl” - AfI6L9Q a9 |
e X e dar”

v 2 “gd+ aida "

23 Mgen+ eidar”

X 4 “gow adar”

Question ID : 16794326418
Status : Answered
Chosen Option : 3

L 6@ @900 01684 F0IQ1R @F ?
Ans  of 1. Gegl

X 2 gaded

X 3 2RI

X 4. Q@74




Question ID : 16794326403
Status : Not Answered
Chosen Option : --

L3 cTEanK GRIde @8 §97?

Ans X 1. QUFIPQ QB
Vv 2 GE06 OF

X 3 RS0 0%
X 4 e

Techofworld.In

Question ID : 16794326409
Status : Answered
Chosen Option : 2

23 66 of6R QIRER - 9@ QRUEH ATRIE TRF @&l ?

Ans O 1. QB
X 2 9REQ
v'3 qged
X4 Qe

Question ID : 16794326422
Status : Answered
Chosen Option : 3

23 Jer Qo PR @F G4 ?

Ans X 1. @enl QeI
X 2 2ad] 6291
X 3. 9QYe gl
v i QRIS @IQ

Question ID : 16794326411
Status : Answered
Chosen Option: 3

%L FA0Y QIIFQ 6Q6 RIRWF ‘R’ 2IAY ABFER NG

Ans o 1 QLAGSHIR
X 2 92ede.

X 3 qadsple
X 4 RIF9R 9B

Question ID : 16794326408
Status : Not Answered
Chosen Option : --




L Qo QIae “AeeeT” QU S99 69006 ?
Ans X 1 gOIORE 6@
v 2 giegeay

< 3 adena 609

x+ oo o, 1 €CNOTWOTId.IN

Question ID : 16794326407
Status : Answered
Chosen Option : 3

Qf BURIGFIRE SlE'n 6@:@“@@@ (a1 6@Q ALY IRIGEe! oo diméem ?
A o1 el Peels

X 2 SR g

X 3. GESR K9y

X 4 gabel

Question ID : 16794326404
Status : Answered
Chosen Option: 1

%3 6aat §8 00 ?
Ans X 1. ZIQGEIa
X 2 2R6QId
X 3 2RsaId
v 4 PRSI

Question ID : 16794326419
Status : Answered
Chosen Option : 4

%} AREeE AR 6640 GIF% 691R GEeE ?
Ans of 1. go@

X2 Qg

X 3 &g

X 4 Gl

Question ID : 16794326412
Status : Answered
Chosen Option : 2

U J3a s09 99 ST 6mst |




Ans X 1. dio@al

x:agn6e | echofworld.In

X< 3 aeedla
v 4 AeeR

Question ID : 16794326420
Status : Answered
Chosen Option : 3

Section : Current Affairs & Reasoning

Q.1 In December 2018, which of the following countries Prime Minister visited to India?
Ans X 1. UAE

v 2. Bhutan

/< 3. Myanmar

X< 4. Nepal

Question ID : 16794326432
Status : Answered
Chosen Option: 3

Q.2 Asper 2017 data, India imports the largest share of its Steel from which of the given options?
Ans o 1. South Korea

< 2 USA

X 3. Australia

X 4. Russia

Question ID : 16794326438
Status : Answered
Chosen Option : 1

Q3 The Face of Disaster 2019, report is released by which of the followings?

Ans (1_

Sustainable Environment and Ecological development Society
/< 2. Ministry of Environment, Forest and Climate Change
< 3. Indian Meteorological Deparment
X 4 ISRO

Question ID : 16794326451
Status : Answered
Chosen Option: 3

Q4 In November 2018, ISRO has launched a Hyper — Spectral Imaging Satellite for:

Ans 1. Moon observation

X 2. Sea observation




x=msobservaion | @Chofworld.In

' 4 Earth observation

Question ID : 16794326446
Status : Answered
Chosen Option : 3

Q5 Professor Najma Akhtar is related with which of the following fields?
Ans o 1. Education

< 2. Politics

3. Film

< 4. Painting

Question ID : 16794326435
Status : Answered
Chosen Option : 1

Q.6 In March 2019, from which of the following countries, President Ram Nath Kovind has received with highest civilian
award?

Ans X 1. Georgia
v 2. Croatia
X 3. United Kingdom
X 4. Argentina

Question ID : 16794326426
Status : Answered
Chosen Option : 3

Q.7 In January 2019, which of the following Government departments is renamed?
Ans 1. Department of Bio-Technolgy

X 2. Department of Heavy Industry

' 3. Department of Industrial Policy and Promotion

/< 4. Department of Fertilizers

Question ID : 16794326448
Status : Answered
Chosen Option: 1

Q8 In which of the following games Delray Beach tournament is related?
Ans X 1. Beach basketball

X 2. Squash

v 3. Tennis

X 4 Golf

Question ID : 16794326427




Chosen Option : --

Te C h OfWO rI d . I n l Status : Not Answered

Q.9 According to State of World Population 2019 report which of the following countries has the smallest population in the
world?

Ans  of 1. Vetican city
/& 2. Antigua and Barbuda

X 3. Greenland
/< 4. Monaco

Question ID : 16794326431
Status : Answered
Chosen Option: 1

Q.1 Which of the following states was overall champion of the first North East Olympic games?
0

Ans X 1. Assam
' 2. Manipur
/< 3. Arunachal Pradesh
& 4 Mizoram

Question ID : 16794326429
Status : Answered
Chosen Option: 3

Q.1 In October, 2018, the Council of Scientific and Industrial Research scientists developed less polluting green
1 firecrackers which is named as;

Ans X 1. GREEN
< 2 BREATH
v 3 SWAS
X 4 CHAMAK

Question ID : 16794326445
Status : Not Answered
Chosen Option : --

Q; Which of the following Fictions won the Pulitzer prize 2019 for fiction?
Ans 1. Warlight
' 2. The Overstory

# 3. The Handmaid’s Tale
< 4. Beneath a Scarlet sky

Question ID : 16794326425
Status : Not Answered
Chosen Option : --

Q.1 sitarist Manju Mehta honoured with which of the following award given by Madhya Pradesh Government for 20187
3

Ans




« 1. Tansen Samman

X 2. Vijay Music Award

/< 3. Lata Mangeshkar Award
/< 4. Sangeet Natak Akademi

Techofworld.In

Question ID : 16794326434
Status : Answered
Chosen Option : 4

041 As of December 2018, who was the chairman of Union Public Service Commission?

Ans X 1. Smita Nagaraj
/X 2. Sujata Mehta

v 3 Arvind Saxena
/< 4 Bhim Sain Bassi

Question ID : 16794326436
Status : Answered
Chosen Option: 3

Q.1 15237 International Film Festival of Kerala. which of the following film won the Suvarna Chakoram ( the golden

5 peasant ) Award?

Ans X 1. Manohar and I
v 2 Dark Room
/< 3. The Silence
X 4. Lijo Jose Pellissery

Question ID : 16794326424
Status : Not Answered
Chosen Option : --

@1 What is the Currency Chest?

Ans (1. Currency counting unit
X 2. Currency Unit
/< 3. Currency verification unit

« 4 Currency Storage

Question ID : 16794326439
Status : Answered
Chosen Option : 2

Q; In 2018, which of the following was the ruling party of Odisha State?

Ans o 1. Biju Janta Dal

/< 2. Communist Party of India (M)




Techofworld.In

/< 3. Bhartiva Janta Party
/< 4 Indian National Congress

Question ID : 16794326443
Status : Answered
Chosen Option : 1

°é1 What is the full form of AMR from the given options?
Ans  of 1 Anti-Microbial Resistance
X 2 Adaptive Microbial Resistance

< 3. Anti- Malaria Resistance
X 4 Active- Malaria Resistance

Question ID : 16794326452
Status : Answered
Chosen Option : 1

051 Who is the winner of Sahitva Akademi Awards 2018 for Hindi language?

Ans o' 1. Chitra Mudgal
/< 2. Sanjib Chattopadhyay

X 3. Anees Salim
/< 4. Sharifa Vijliwala

Question ID : 16794326423
Status : Answered
Chosen Option : 2

Q.2 Which of the following states has assembly election simultaneously with Lok Sabha Polls?
0

Ans 1. Maharastra
< 2. West Bengal
v 2 Odisha
X 4 Goa

Question ID : 16794326444
Status : Not Answered
Chosen Option : --

01.2 On 4 April, 2019, what was the repo rate?
Ans X 1. 6.25%

X 2 6.5%

X 3 7%

v 4 6%

Question ID : 16794326440




Status : Not Answered
Chosen Option : --

Q,f What is the full form of WMA in Finance?

Ans X 1. Workforce Monetary Association

' 2. Ways and Means Advances TeCh OfWO rI d . I N

/< 3. Worldwide Monetary Association
#< 4. White Money Association

Question ID : 16794326441
Status : Answered
Chosen Option : 4

Q.2 which of the following states becomes the first Indian state to launch a single emergency number?
3

Ans o 1. Himachal Pradesh
X 2. Telangana
/< 3. Gujrat
/< 4 Kerala

Question ID : 16794326449
Status : Answered
Chosen Option: 3

Q.2 Ministry of Railways has launched Rail Heritage Destination project of Indian Railways in collaboration with which of
4 the following companies?

Ans X 1. Infosys
X 2 IBM
v 3. Google

& 4. Microsoft

Question ID : 16794326447
Status : Answered
Chosen Option: 3

Q.2 Mueller Report is related to which of the following countries Presedential Election happened in 2016?
5

Ans X 1. Russia
& 2 Israel
X 3. Iran
v 4 USA

Question ID : 16794326433
Status : Not Answered
Chosen Option : --

Qéz Bhuvneshwar kumar is related with which of the following sports?




Ans X 1. Kabaddi
' 2. Cricket
/X 3. Hockey

/< 4 Boxing

Question ID : 16794326430
Status : Answered
Chosen Option : 2

Ans X 1. Ministry of Earth Sciences
/< 2. Ministry of Health and Family Welfare
#< 3. Ministry of Scientific and Industrial Research

« 2. Ministry of Environment , Forest and Climate Change

07-2 National Clean Air Programme is launched by which of the following Ministries?

Question ID : 16794326442
Status : Answered
Chosen Option : 4

Ans X1 19t April

X 3 16™ April

X 4 15t April

92 What was the date of the phase 2 of Lok Sabha Election 20197

v- a1 €ChOfworld.In

Question ID : 16794326450
Status : Not Answered
Chosen Option : --

Ans  of 1. Virat Kohli
& 2. Calum McLeod
& 3. Kane Williamson
#< 4. Aaron Finch

@2 Who has won the ICC Men’s ODI Player of the year for 20182

Question ID : 16794326428
Status : Answered
Chosen Option : 1

Ans 1. ISRO

/< 2. Department of Atomic Energy

@3 Dr G Satheesh Reddy is the Chairman of which of the followings?




v 3 DRDO
/< 4 Indian Meteorological Department

Question ID : 16794326437
Status : Answered
Chosen Option: 3

01-3 Identify the analogues word to replace *?” as per the relation of first pair of words?

Chimney : smoke :: Rifle : ?
Ans - 1. Station
v 2. Bullet
# 3. Fire
X 4. Coal

Question ID : 16794326467
Status : Answered
Chosen Option : 2

Q.3 Anartist has to cut a number of canvas pieces from a roll of canvas. He cuts each roll of equal length in to 10 pieces. He

2 cuts 36 cuts in a minute. How many rolls would be cut in 26 minutes?

Ans  of 1. 104

X*%  Techofworld.In

X 4 35

Question ID : 16794326472
Status : Not Answered
Chosen Option : --

%3 What would be the next term in the following series:

6, 18,22, 110,116, 312, ?

Ans X 1. 830

v 2 820

< 3890

X 4905

Question ID : 16794326455
Status : Answered
Chosen Option : 3

Q.3




Ans

Identify the mirror image for the following figure where MN represents the mirror.

£ 4] %!

Techofworld.In

Question ID : 16794326478
Status : Not Answered
Chosen Option : --

Qé3 Which of the two conclusions can be concluded on the basis of given statements?

Ans

Statement: Some bats are sticks. All the sticks are rockets

Conclusion:
1) Some bats are rockets
2) No stick is bat

& 1. Either 1 or 2 follows

' 2. Only conclusion 1 follows
& 3. Neither 1 nor 2 follows
< 4. Only conclusion 2 follows

[ Question ID : 16794326468




Status : Answered
Chosen Option : 2

063 Identify the rule that the following figure series follows from the options:

Q©g|ele

Ans 1. Number of sides of an inner polygon reducing in each stage

/< 2. Number of sides of an outer polygon reducing in each stage

/< 3. Each sub part of the figure is becoming closer and closer

o

Number of sides of an outer and inner polygon reducing in each alternative stage

Question ID : 16794326476
Status : Answered
Chosen Option : 4

Ans

0, 14, 24, 39, 59, ?
v 84

X250 Techofworld.In

< 390
X4 79

@3 What would be the next tern in the following series:

Question ID : 16794326453
Status : Not Answered
Chosen Option : --

Ans

0{33 Which of the two conclusions can be concluded on the basis of given statements?

Statement: Some Autos are Scooters. All the scooters are cycles.

Conclusions:
1. Some Autos are cycles
2. No scooter is Auto

/< 1. Only conclusion (2) follows
< 2. Both (1) and (2) follows

/< 3. Neither (1) nor (2) follows
' 2. Only conclusion (1) follows

Question ID : 16794326469
Status : Answered
Chosen Option : 4

Q3




9  Find out which of the figures can be formed from the pieces given in figure X

7 AN

Ans

X 2

A
A
A

Techofworld.In

Question ID : 16794326473

Status : Not Answered

Chosen Option : --

Q4 What would be the next tern in the following series:

3.17,45, 87,1437
Ans of 1. 213

X 2 225

X 3 215

X 4230

Question ID : 16794326454

Status : Answered

Chosen Option: 1

Q.4 16 vears old Vamshi was 4 times as old as his brother Raju. How old will Vamshi be when he is twice as old as Raju?

1
Ans (1. 24
X212




X3 8
X 416

Question ID : 16794326471
Status : Not Answered
Chosen Option : --

Qé4 Identify the analogues word to replace *?" as per the relation of first pair of words?

Mongoose: snake :: Tiger : ?

Ans X 1. Lizard
&< 2 Dog
< 3. Squirrel
v 4 Deer

Techofworld.In

Question ID : 16794326466
Status : Answered
Chosen Option : 4

Q;' Samanvi ranks 2299 from top and 25™ from last in a class. What is the strength of the class?

Ans 1. 48
X 2 47
X3 45
v 4 46

Question ID : 16794326457
Status : Not Answered
Chosen Option : --

044 Ravali ranks forty second in a class of seventy students. What is her rank from last?

Ans X 1. 28

X2 27

3 29

X 4 30

Question ID : 16794326456
Status : Answered
Chosen Option : 1

Q.4




Study the following information carefully and answer the given questions.

For a recruitment process in a Non-Banking Financial Corporate organization, the candidates need to possess the
following qualifications criteria:

(i) A graduate in commerce with at least 60% marks.

(i) An age of at least 24 vears and not more than 40 years ason 1 - 4 - 2018,

(iii) Have a post-qualification work experience of at least 2 years.

(iv) Should have secured 55% marks in the selection process.

However, if the candidate fulfills the above-mentioned criteria except

(A) at (i) and if the candidate is not a graduate in commerce but has a post-graduation degree in finance with minimum
of 60% marks, he/she should be referred to the Finance Manager of the organization.

(B) at (iii) and if the candidate fulfills all the eligibility criteria but of post — qualification work experience but has
secured 75% marks in the selection process, he/she may be referred to the Trainee Accountant.

Based on the above information study carefully whether following candidates are eligible for the recruitment process

and mark your answer as follows. You are not to assume anything other than the information provided in each question.
Sumitra is having age according to the advertisement. She has done her graduation and post-graduation in Commerce

and secured 61% and 63% marks respectively. She has a post-qualification work experience as a senior accountant of
four and half years. And has secured 58.5% marks in the selection process

Ans o 1. the candidate is to be selected.
25 2. the candidate may be referred to the Trainee Accountant

/< 3. the candidate may be referred to the Finance Manager

X 4 the candidate is not to be selected.

TeCh OfWO rI d . I n Question ID : 16794326470

Status : Answered
Chosen Option : 4

06-4 Identify the mirror image for the following figure where MN represents the mirror.
M

CUP

N

~bNC

Ans

© 2U9

< CUP




219U

Question ID : 16794326479
Status : Answered
Chosen Option : 2

0%4 How would the pattern appear when the transparent sheet is folded at the dotted line?

g

Ans

Techofworld.In

p

Question ID : 16794326482
Status : Answered
Chosen Option : 2

Q.4 If the paper is folded and cut as per the shape given below, what would be the result look like after unfolding the paper?

8 e NG
& *W’EMP

Ans




Techofworld.In

p

NZAINNZAL NG
Y XY XY

Question ID : 16794326475
Status : Answered
Chosen Option : 3

Q.4 How would pattern appear when the transparent sheet is folded at the dotted line?

O
AV

X

LIEEIEEEE




Question ID : 16794326481
Status : Answered
Chosen Option : 2

Q.5 Vvasanth and Ramesh are playing chess sitting in a standard seating positions. If Vasanth faces South-East direction.
0 Then his opponent Ramesh is facing which direction?

Ans x 1. Worth-East
& 2. South-West TeChOfWO rld . | n
v 3. North-West
X 4. South-East

Question ID : 16794326458
Status : Answered
Chosen Option : 3

Q.5 Ina certain code language NATION is written as PCVKQP. How is MARCONI written in that code language?
1

Ans  of 1. OCTEQPK
X 2. OCUMEPK

< 3. OUMDKLU
X< 4 OGCIBNK

Question ID : 16794326462
Status : Answered
Chosen Option : 1

Q.5
2

Ans 1. F
v2G
X3 E
X4+ H

What would be 14 letter left to the twenty first one of English alphabetical letters?

Question ID : 16794326461
Status : Answered
Chosen Option : 3

°é5 Which of the answer figures completes the following given figure matrix?

Y

?

0>

Ans

f\Q

N
)




X5 '___ Techofworld.In

Question ID : 16794326480
Status : Not Answered
Chosen Option : --

Q.5 Ramarao has two sons and a daughter. He has a Dining table in the shape of pentagon. All the family members are
4 sitting around the pentagonal dining table at each corner.
Ramarao is sitting left to his wife Shyamala.
His elder son Anand is sitting right to his mother.
Shyamala’s daughter Srilekha is sitting immediate left to Ramarao.
Ramarao’s younger son Sridhar is sitting between Anand and Srilekha
Who is sitting immediate left to Ramarao’s daughter?

Ans X 1. Shyamala
v 2. sridhar
/< 3. Srilekha
& 4 Anand

Question ID : 16794326460
Status : Answered
Chosen Option : 2

Q.5 A paper as shown in the figure (X) is folded in the form of a cube as shown in figure Y then which of the options could
5  represent opposite face of front face shown in figure Y?

)

Ans X1, A




v2B
X3D
X4 c

Techofworld.In

Question ID : 16794326474
Status : Not Answered
Chosen Option : --

6

Ans

the pattern?

Q.5 Select a figure from amongst the four alternatives which when placed in the blank space of figure (X) would complete

Question ID : 16794326477
Status : Not Answered
Chosen Option : --

7

Ans

hand points?

+ 1. East
& 2 North
/< 3. South
X 4 West

Q.5 The clock in hand is showing 3:00 am. If the minutes hand points towards North, then in which direction the hours

Question ID : 16794326459




Status : Answered
Chosen Option : 1

Qé5 Identify the analogues word to replace ‘2" as per the relation of first pair of words?

Cruel : Kind :: Ignore : ?
Ans - X' 1. Snub

X 2 Disclaim Techofworld.In

v 3. Notice
X 4 Disregard

Question ID : 16794326465
Status : Answered
Chosen Option: 3

Q.5 Ina certain code, the words RED is written as IVW and TEAR is written as GVZI then How the word TRAVEL could
9 be written in that code?

Ans X' 1. DIGCZP
v 2 GIZEVO
X 3. ZGOIVU
X 4 IOUGST

Question ID : 16794326464
Status : Answered
Chosen Option : 2

Q.6 If PAPER is coded as 74726 and LEARN as 12460, then how the word NEPAL can be coded?
0

Ans - X 1. 95462
X 2 83751
X 3. 34169
W 4 92741

Question ID : 16794326463
Status : Answered
Chosen Option : 4

Section : Subject Content & Methodology

Comprehension:




Read the following passage and answer the questions given after it.

On 27 March, India demonstrated its capability for shooting down a
satellite with a missile fired from the ground, becoming only the fourth
country with such a capability. The satellite. which was one of India’s
own, was literally left in pieces — thousands of them. On Monday:.
NASA administrator Jim Bridenstine said NASA had identified at least
400 pieces from the wreck, and was tracking 60 that were larger than
10 cm in size. He said 24 of these 60 had got near the International

Space Station (ISS) and thus posed a potential threat of collision.

The ISS is the world’s only permanent laboratory in space. It is
massive, spanning a little larger than a football field. and weighing over
400 tonnes. Hanging about 400 km above Earth’s surface, the ISS
carries extremely costly infrastructure, with facilities to host three to
four astronauts at a time. It serves as a unique platform to carry out a
variety of scientific experiments in space, especially those that require

zero-gravity situations. and also for testing new space systems and

Techofworld.In

What threat could small pieces pose to such massive infrastructure?

technologies.

The size and weight of the pieces are secondary. What is crucial is
that these pieces move at very great speeds. In the low earth orbit,
where the targeted Indian satellite was located. objects typically move
at almost 8 metres per second, or 28.000 kam/ph. in order to stay in
their orbits. At such speeds. even a tiny object of just about 100
grams would produce the same kind of impact on collision as a 30 kg
stone travelling at about 100 km/hr. The debris from the destroyed
Indian satellite would be typically moving at these speeds. A collision
with any other satellite in space could render that satellite
dysfunctional, if not destroy it.
SubQuestion No : 1

Q1 The debris of the satellite that was shot down is dangerous

because:

Ans 3 1. the debris is moving in low earth orbit




/< 2. it is too much in quantity of it
#< 3. it has large pieces which can break thing

v it is moving at great speed and can damage the ISS in case

of a collision

Question ID : 16794326494

Techofworld.In

Chosen Option : 2

Comprehension:




Read the following passage and answer the questions given after it.

On 27 March, India demonstrated its capability for shooting down a
satellite with a missile fired from the ground, becoming only the fourth
country with such a capability. The satellite. which was one of India’s
own, was literally left in pieces — thousands of them. On Monday:.
NASA administrator Jim Bridenstine said NASA had identified at least
400 pieces from the wreck, and was tracking 60 that were larger than
10 cm in size. He said 24 of these 60 had got near the International

Space Station (ISS) and thus posed a potential threat of collision.

The ISS is the world’s only permanent laboratory in space. It is
massive, spanning a little larger than a football field. and weighing over
400 tonnes. Hanging about 400 km above Earth’s surface, the ISS
carries extremely costly infrastructure, with facilities to host three to
four astronauts at a time. It serves as a unique platform to carry out a
variety of scientific experiments in space, especially those that require

zero-gravity situations. and also for testing new space systems and

teemologies. — T'achofworld.In

What threat could small pieces pose to such massive infrastructure?

The size and weight of the pieces are secondary. What is crucial is
that these pieces move at very great speeds. In the low earth orbit,
where the targeted Indian satellite was located. objects typically move
at almost 8 metres per second, or 28.000 kam/ph. in order to stay in
their orbits. At such speeds. even a tiny object of just about 100
grams would produce the same kind of impact on collision as a 30 kg
stone travelling at about 100 km/hr. The debris from the destroyed
Indian satellite would be typically moving at these speeds. A collision
with any other satellite in space could render that satellite
dysfunctional, if not destroy it.
SubQuestion No : 2
Q2 wWhat did India achieve on 27 March 2019?
Ans o 1. Shot a satellite with a missile

/X 2. Broke a satellite into pieces




/< 3. Fired a missile into space
#< 4 Sent a small satellite into space

Techofworld.In v sz

Chosen Option : 3

Comprehension:




Read the following passage and answer the questions given after it.

Techofworld.In

On 27 March, India demonstrated its capability for shooting down a
satellite with a missile fired from the ground, becoming only the fourth
country with such a capability. The satellite. which was one of India’s
own, was literally left in pieces — thousands of them. On Monday:.
NASA administrator Jim Bridenstine said NASA had identified at least
400 pieces from the wreck, and was tracking 60 that were larger than
10 cm in size. He said 24 of these 60 had got near the International

Space Station (ISS) and thus posed a potential threat of collision.

The ISS is the world’s only permanent laboratory in space. It is
massive, spanning a little larger than a football field. and weighing over
400 tonnes. Hanging about 400 km above Earth’s surface, the ISS
carries extremely costly infrastructure, with facilities to host three to
four astronauts at a time. It serves as a unique platform to carry out a
variety of scientific experiments in space, especially those that require
zero-gravity situations. and also for testing new space systems and

technologies.
What threat could small pieces pose to such massive infrastructure?

The size and weight of the pieces are secondary. What is crucial is
that these pieces move at very great speeds. In the low earth orbit,
where the targeted Indian satellite was located. objects typically move
at almost 8 metres per second, or 28.000 kam/ph. in order to stay in
their orbits. At such speeds. even a tiny object of just about 100
grams would produce the same kind of impact on collision as a 30 kg
stone travelling at about 100 km/hr. The debris from the destroyed
Indian satellite would be typically moving at these speeds. A collision
with any other satellite in space could render that satellite
dysfunctional, if not destroy it.
SubQuestion No : 3
Q3 WWhat facility does the International Space Station have?
Ans 1. It is a massive space station.

v 2. Four astronauts can live there at a time.




/< 3. Tt has extremely costly infrastructure.
# 4. Tt is stationed at 400 km above Earth.

Techofworld.In

Question ID : 16794326492
Status : Answered
Chosen Option : 2

Comprehension:




Read the following passage and answer the questions given after it.

On 27 March, India demonstrated its capability for shooting down a
satellite with a missile fired from the ground, becoming only the fourth
country with such a capability. The satellite. which was one of India’s
own, was literally left in pieces — thousands of them. On Monday:.
NASA administrator Jim Bridenstine said NASA had identified at least
400 pieces from the wreck, and was tracking 60 that were larger than
10 cm in size. He said 24 of these 60 had got near the International

Space Station (ISS) and thus posed a potential threat of collision.

The ISS is the world’s only permanent laboratory in space. It is
massive, spanning a little larger than a football field. and weighing over
400 tonnes. Hanging about 400 km above Earth’s surface, the ISS
carries extremely costly infrastructure, with facilities to host three to
four astronauts at a time. It serves as a unique platform to carry out a
variety of scientific experiments in space, especially those that require

zero-gravity situations. and also for testing new space systems and
eemoiogies. [ echofworld.In

What threat could small pieces pose to such massive infrastructure?

The size and weight of the pieces are secondary. What is crucial is
that these pieces move at very great speeds. In the low earth orbit,
where the targeted Indian satellite was located. objects typically move
at almost 8 metres per second, or 28.000 kam/ph. in order to stay in
their orbits. At such speeds. even a tiny object of just about 100
grams would produce the same kind of impact on collision as a 30 kg
stone travelling at about 100 km/hr. The debris from the destroyed
Indian satellite would be typically moving at these speeds. A collision
with any other satellite in space could render that satellite

dysfunctional, if not destroy it.

SubQuestion No : 4
Q4 wWhat is the main purpose of the International Space
Station?

Ans "1 To provide accommodation to astronauts




/< 2. To go around the earth
/< 3. To keep a watch on activities on Earth

' 2 To carry out scientific experiments in space

Techofworld.In v s

Chosen Option : 4

Comprehension:




Read the following passage and answer the questions given after it.

On 27 March, India demonstrated its capability for shooting down a
satellite with a missile fired from the ground, becoming only the fourth
country with such a capability. The satellite. which was one of India’s
own, was literally left in pieces — thousands of them. On Monday:.
NASA administrator Jim Bridenstine said NASA had identified at least
400 pieces from the wreck, and was tracking 60 that were larger than
10 cm in size. He said 24 of these 60 had got near the International

Space Station (ISS) and thus posed a potential threat of collision.

The ISS is the world’s only permanent laboratory in space. It is
massive, spanning a little larger than a football field. and weighing over
400 tonnes. Hanging about 400 km above Earth’s surface, the ISS
carries extremely costly infrastructure, with facilities to host three to
four astronauts at a time. It serves as a unique platform to carry out a
variety of scientific experiments in space, especially those that require

zero-gravity situations. and also for testing new space systems and

technologies. TeCh OfWO rl d . I n

What threat could small pieces pose to such massive infrastructure?

The size and weight of the pieces are secondary. What is crucial is
that these pieces move at very great speeds. In the low earth orbit,
where the targeted Indian satellite was located. objects typically move
at almost 8 metres per second, or 28.000 kam/ph. in order to stay in
their orbits. At such speeds. even a tiny object of just about 100
grams would produce the same kind of impact on collision as a 30 kg
stone travelling at about 100 km/hr. The debris from the destroyed
Indian satellite would be typically moving at these speeds. A collision
with any other satellite in space could render that satellite
dystunctional, if not destroy it.

SubQuestion No : 5

Q5 wWhat is NASA’s cause for concern?

Ans X 1. The satellite shot down by India breaking into small pieces

+ 2 Some piece of the broken satellite colliding with the ISS




60 pieces of the broken satellite larger than 10 cm in size

* being found in space

< 4. India becoming the fourth country to shoot down a satellite

Question ID : 16794326491
Status : Answered
Chosen Option : 2

Comprehension:

Read the following passage and answer the questions given after it.

Climate changes happen for a variety of reasons. Some of these reasons
have to do with Earth's atmosphere. The climate change brought by El
Nifo, which relies on winds and ocean currents, is an example of natural
atmospheric changes.

Natural climate change can also be affected by forces outside Earth's
atmosphere. For instance, the 100,000-year cycles of ice ages are
probably related to changes in the tilt of Earth's axis and the shape of its
orbit around the sun. Those planetary factors change slowly over time
and affect how much of the sun's energy reaches different parts of the

world in different seasons. The impact of large meteorites on Earth could

also cause climate change. Tech OfWO rI d . I n

The impact of a meteor would send millions of tons of debris into the
atmosphere. This debris would block at least some of the sun's rays,
making it cold and dark. This climate change would severely limit what
organisms could survive. Many palaeontologists believe the impact of a
meteor or comet contributed to the extinction of the dinosaurs. Dinosaurs
simply could not survive in a cool, dark climate. Their bodies could not
adjust to the cold. and the dark limited the growth of plants on which
they fed.

Plate tectonics also play a role in climate changes. Earth's continental
plates have moved a great deal over time. More than 200 million vears
ago, the continents were merged together as one giant landmass called
‘Pangaea’. As the continents broke apart and moved, their positions on
Earth changed. and so did the movements of ocean currents. Both of
these changes had effects on climate.

SubQuestion No : 6

Q6 The main idea discussed in the passage is:
Ans 2 1. reasons of continental plate movement

< 2. impact of climate change on life on earth




/< 3. effect of meteoric debris on the climate

+ 4 non-atmospheric reasons of climate change

Question ID : 16794326496

Status : Answered

Chosen Option: 2

Q.7

Ans

Comprehension:

Read the following passage and answer the questions given after it.

Climate changes happen for a variety of reasons. Some of these reasons
have to do with Earth's atmosphere. The climate change brought by El
Ninoe, which relies on winds and ocean currents, is an example of natural

atmospheric changes.

Natural climate change can also be affected by forces outside Earth's
atmosphere. For instance, the 100,000-year cycles of ice ages are
probably related to changes in the tilt of Earth's axis and the shape of its
orbit around the sun. Those planetary factors change slowly over time
and affect how much of the sun's energy reaches different parts of the

world in different seasons. The impact of large meteorites on Earth could

also cause climate changeTeCh OfWO rI d . I n

The impact of a meteor would send millions of tons of debris into the
atmosphere. This debris would block at least some of the sun's rays,
making it cold and dark. This climate change would severely limit what
organisms could survive. Many palaeontologists believe the impact of a
meteor or comet contributed to the extinction of the dinosaurs. Dinosaurs
simply could not survive in a cool, dark climate. Their bodies could not
adjust to the cold. and the dark limited the growth of plants on which
they fed.

Plate tectonics also play a role in climate changes. Earth's continental
plates have moved a great deal over time. More than 200 million vears
ago, the continents were merged together as one giant landmass called
‘Pangaea’. As the continents broke apart and moved, their positions on
Earth changed. and so did the movements of ocean currents. Both of
these changes had effects on climate.

SubQuestion No : 7

Which statement is NOT true according to the passage?

X 1 The phenomenon of El Nino relies on winds and ocean

currents.




200 million years ago the earth was one huge landmass

X2

called ‘Pangaea’.
#< 3. Climate change severely impacts life on Earth.
v The cycle of ice age is impacted by the tonnes of debris in
Earth’s atmosphere.

Question ID : 16794326500

Status : Answered

Chosen Option : 4

Q.8

Comprehension:

Read the following passage and answer the questions given after it.

Climate changes happen for a variety of reasons. Some of these reasons
have to do with Earth's atmosphere. The climate change brought by El
Nifo, which relies on winds and ocean currents, is an example of natural
atmospheric changes.

Natural climate change can also be affected by forces outside Earth's
atmosphere. For instance, the 100,000-year cycles of ice ages are
probably related to changes in the tilt of Earth's axis and the shape of its
orbit around the sun. Those planetary factors change slowly over time
and affect how much of the sun's energy reaches different parts of the

world in different seasons. The impact of large meteorites on Earth could
also cause climate change. TeCh OfWO rI d ] I n

The impact of a meteor would send millions of tons of debris into the
atmosphere. This debris would block at least some of the sun's rays,
making it cold and dark. This climate change would severely limit what
organisms could survive. Many palaeontologists believe the impact of a
meteor or comet contributed to the extinction of the dinosaurs. Dinosaurs
simply could not survive in a cool, dark climate. Their bodies could not
adjust to the cold. and the dark limited the growth of plants on which
they fed.

Plate tectonics also play a role in climate changes. Earth's continental
plates have moved a great deal over time. More than 200 million vears
ago, the continents were merged together as one giant landmass called
‘Pangaea’. As the continents broke apart and moved, their positions on
Earth changed. and so did the movements of ocean currents. Both of
these changes had effects on climate.

SubQuestion No : 8




Which of the following is an atmospheric reason of climate
change?
Ans X 1. Changes in the tilt of Earth's axis
#< 2. Movement of continental plates
#< 3. Shape of Earth’s orbit around the sun

' 4 Movement of winds and ocean currents

Question ID : 16794326497
Status : Answered
Chosen Option : 1

Comprehension:

Read the following passage and answer the questions given after it.

Climate changes happen for a variety of reasons. Some of these reasons
have to do with Earth's atmosphere. The climate change brought by El
Nifo, which relies on winds and ocean currents, is an example of natural

atmospheric changes.

Natural climate change can also be affected by forces outside Earth's
atmosphere. For instance, the 100,000-vyear cycles of ice ages are
probably related to changes in the tilt of Earth's axis and the shape of its
orbit around the sun. Those planetary factors change slowly over time
and affect how much of the sun's energy reaches different parts of the

world in different seasons. The impact of large meteorites on Earth could

also cause climate change. TeCh OfWO rI d i I n

The impact of a meteor would send millions of tons of debris into the
atmosphere. This debris would block at least some of the sun's rays,
making it cold and dark. This climate change would severely limit what
organisms could survive. Many palaeontologists believe the impact of a
meteor or comet contributed to the extinction of the dinosaurs. Dinosaurs
simply could not survive in a cool, dark climate. Their bodies could not
adjust to the cold. and the dark limited the growth of plants on which
they fed.

Plate tectonics also play a role in climate changes. Earth's continental
plates have moved a great deal over time. More than 200 million vears
ago, the continents were merged together as one giant landmass called
‘Pangaea’. As the continents broke apart and moved, their positions on
Earth changed. and so did the movements of ocean currents. Both of

these changes had effects on climate.

SubQuestion No : 9




Q9 The change in the tilt of Earth’s axis and the shape of Earth

were caused by:
Ans 3 1. tonnes of debris in the atmosphere
v 2. the cycles of ice age

/< 3. movement of time

/< 4. the energy level of the sun

Question ID : 16794326498
Status : Answered
Chosen Option : 4

Comprehension:

Read the following passage and answer the questions given after it.

Climate changes happen for a variety of reasons. Some of these reasons
have to do with Earth's atmosphere. The climate change brought by El
Nifo, which relies on winds and ocean currents, is an example of natural

atmospheric changes.

Natural climate change can also be affected by forces outside Earth's
atmosphere. For instance, the 100,000-vyear cycles of ice ages are
probably related to changes in the tilt of Earth's axis and the shape of its
orbit around the sun. Those planetary factors change slowly over time
and affect how much of the sun's energy reaches different parts of the

world in different seasons. The impact of large meteorites on Earth could

also cause climate change. TeCh OfWO rI d . I n

The impact of a meteor would send millions of tons of debris into the
atmosphere. This debris would block at least some of the sun's rays,
making it cold and dark. This climate change would severely limit what
organisms could survive. Many palaeontologists believe the impact of a
meteor or comet contributed to the extinction of the dinosaurs. Dinosaurs
simply could not survive in a cool, dark climate. Their bodies could not
adjust to the cold. and the dark limited the growth of plants on which
they fed.

Plate tectonics also play a role in climate changes. Earth's continental
plates have moved a great deal over time. More than 200 million vears
ago, the continents were merged together as one giant landmass called
‘Pangaea’. As the continents broke apart and moved, their positions on
Earth changed. and so did the movements of ocean currents. Both of

these changes had effects on climate.

SubQuestion No : 10




061 Which of the following was the root cause of the dinosaurs’
extinction?

Ans X 1. Cool and dark climate on Earth
< 2. Limited growth of plants on Earth

' 3. Large meteorites and comets

#< 4 Tonnes of debris in Earth’s atmosphere

Question ID : 16794326499
Status : Answered
Chosen Option : 4

Comprehension:
In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate

Techofworld.In

Throughout history. the elephant has played an important role in human

option for each number.

economies, religion and culture. The immense size, strength, and 1.
of this largest living land animal have 2. people of many
cultures for hundreds of years.

In Asia, elephants 3. as beasts of burden in war and peace. 4.
civilisations have regarded elephants as gods, and 5.
have been symbols of royalty for some.

SubQuestion No : 11
@7 Select the most appropriate word to fill in blank No. 2.
Ans - of 1. intrigued

/< 2. surprised

#< 3. troubled

/< 4. absorbed

Question ID : 16794326503
Status : Answered
Chosen Option : 1

Comprehension:




In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate

option for each number.

Throughout history, the elephant has played an important role in human
economies, religion and culture. The immense size, strength, and 1.
of this largest living land animal have 2. people of many

cultures for hundreds of years.

In Asia, elephants 3. as beasts of burden in war and peace. 4.
civilisations have regarded elephants as gods, and 5.

have been symbols of royalty for some.

SubQuestion No : 12
Q,; Select the most appropriate word to fill in blank No. 5.

Ans «1_ thE}T

#rwee  Tachofworld.In

X 3. these
< 4 that

Question ID : 16794326506
Status : Answered
Chosen Option : 1

Comprehension:
In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate

option for each number.

Throughout history, the elephant has played an important role in human

economies, religion and culture. The immense size, strength, and 1.

_ ofthis largest living land animal have 2. people of many

cultures for hundreds of vears.

In Asia, elephants 3. as beasts of burden in war and peace. 4.
civilisations have regarded elephants as gods, and 5.

have been symbols of royalty for some.

SubQuestion No : 13
&' Select the most appropriate word to fill in blank No. 1.

Ans «1' shape
< 2 length

< 3. dimension
/< 4 might




Question ID : 16794326502
Status : Answered
Chosen Option : 1

Comprehension:
In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Throughout history, the elephant has played an important role in human
economies, religion and culture. The immense size, strength, and 1.
_ ofthis largest living land animal have 2. people of many
cultures for hundreds of years.

In Asia, elephants 3. as beasts of burden in war and peace. 4.
civilisations have regarded elephants as gods, and 5.
have been symbols of rovyalty for some.

SubQuestion No : 14 TeCh OfWO rI d . I n

°;'1 Select the most appropriate word to fill in blank No. 3.
Ans X 1. are serving

/X 2. serves

< 3. were serving

' 4 have served

Question ID : 16794326504
Status : Answered
Chosen Option : 4

Comprehension:
In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Throughout history, the elephant has played an important role in human
economies, religion and culture. The immense size, strength, and 1.
of this largest living land animal have 2. people of many

cultures for hundreds of vears.

In Asia, elephants 3. as beasts of burden in war and peace. 4.
civilisations have regarded elephants as gods, and 5.

have been symbols of royalty for some.

SubQuestion No : 15

051 Select the most appropriate word to fill in blank No. 4.
Ans X 1. Few




2. Some
< 3. A lotof
<4 All

Question ID : 16794326505
Status : Answered
Chosen Option : 4

Comprehension:

Read the following passage and answer the questions given after it.

At the end of a week, he was able to give me his story.

He was a Lala, a merchant and at one time possessed a flourishing grain
business. Then, he made the mistake of taking as partner a man about
whom he knew nothing. For a few years, his business prospered and all
went well but one day when he returned from a long journey, he found
his shop empty and his partner gone. The little money in his possession
was only sufficient to meet his personal debts and bereft of credit, he had
to seek employment. This he found with a merchant with whom he had
traded and for ten vears. He had worked for seven rupees a month which
was only sufficient to support himself and his son. His wife having died
shortly after his partner robbed him. He was on his way from
Muzaffarpur to Gaya, on his master's business, when he was taken ill in
the train. As he got worse on board the ferry steamer, he had crawled
ashore to die on the banks of the sacred Ganges.

Lalaje, stayed with me for about a month, and then one day, he requested
permission to continue his journey to Gava. The request was made as we
were walking through the sheds, for Lalajee was strong enough now to
accompany me for a short distance each morning when I set out for work
and when I asked him what he would do if on arrival at Gaya he found
his master had filled his place, he said he would try to find other
employment, “Why not try to get someone to help vou to be a merchant
i Techofworld.In

I asked and he replied. The thought of being a merchant again, and able
to educate my son. is with me night and day. Sahib, but there is no one in
all the world who would trust me, a servant on seven rupees a month and
without any security to offer, with the five hundred rupees I should need

to give me a new start’.

SubQuestion No : 16
061 What did Lala think of all the time?

Ans 3 1. Going back home after getting well
#< 2. Meeting his son




« 3. Starting his business again

< 4. Getting another employment

Question ID : 16794326488
Status : Answered
Chosen Option: 3

Comprehension:

Read the following passage and answer the questions given after it.

At the end of a week, he was able to give me his story.

He was a Lala, a merchant and at one time possessed a flourishing grain
business. Then, he made the mistake of taking as partner a man about
whom he knew nothing. For a few years, his business prospered and all
went well but one day when he returned from a long journey, he found
his shop empty and his partner gone. The little money in his possession
was only sufficient to meet his personal debts and bereft of credit, he had
to seek employment. This he found with a merchant with whom he had
traded and for ten years. He had worked for seven rupees a month which
was only sufficient to support himself and his son. His wife having died
shortly after his partner robbed him. He was on his way from
Muzaffarpur to Gaya, on his master's business, when he was taken ill in
the train. As he got worse on board the ferry steamer, he had crawled
ashore to die on the banks of the sacred Ganges.

Lalaje, stayed with me for about a month, and then one day, he requested
permission to continue his journey to Gaya. The request was made as we
were walking through the sheds, for Lalajee was strong enough now to
accompany me for a short distance each morning when I set out for work
and when I asked him what he would do if on arrival at Gaya he found
his master had filled his place, he said he would try to find other
employment, “Why not try to get someone to help you to be a merchant
sgain?’ echofworld.In

I asked and he replied. The thought of being a merchant again, and able
to educate my son, is with me night and day. Sahib, but there is no one in
all the world who would trust me, a servant on seven rupees a month and
without any security to offer, with the five hundred rupees I should need

to give me a new start’.

SubQuestion No : 17

Q; From the passage it can be inferred that the narrator was

Lalaje’s:
Ans X 1. employer

v 2 saviour




/< 3. partner
/< 4. patron

Question ID : 16794326487
Status : Answered
Chosen Option : 3

Comprehension:

Read the following passage and answer the questions given after it.

At the end of a week, he was able to give me his story.

He was a Lala, a merchant and at one time possessed a flourishing grain
business. Then, he made the mistake of taking as partner a man about
whom he knew nothing. For a few years, his business prospered and all
went well but one day when he returned from a long journey, he found
his shop empty and his partner gone. The little money in his possession
was only sufficient to meet his personal debts and bereft of credit, he had
to seek employment. This he found with a merchant with whom he had
traded and for ten years. He had worked for seven rupees a month which
was only sufficient to support himself and his son. His wife having died
shortly after his partner robbed him. He was on his way from
Muzaffarpur to Gaya, on his master's business, when he was taken ill in
the train. As he got worse on board the ferry steamer, he had crawled
ashore to die on the banks of the sacred Ganges.

Lalaje, stayed with me for about a month, and then one day, he requested
permission to continue his journey to Gaya. The request was made as we
were walking through the sheds, for Lalajee was strong enough now to
accompany me for a short distance each morning when I set out for work
and when I asked him what he would do if on arrival at Gaya he found
his master had filled his place, he said he would try to find other

employment, *Whynot try to, get sopeone to help voy to be a merchant
= |echofworld.In

I asked and he replied. The thought of being a merchant again, and able
to educate my son, is with me night and day, Sahib, but there is no one in
all the world who would trust me, a servant on seven rupees a month and
without any security to offer, with the five hundred rupees I should need

to give me a new start’.

SubQuestion No : 18

Q" What mistake had Lala made in business?
Ans 3 1. He didn’t have enough money for business.
7< 2. He had incurred a lot of personal debt.

#< 3. He did business in grains.




+ 4 He had taken an unknown person as partner.

Question ID : 16794326485
Status : Answered
Chosen Option : 4

Comprehension:

Read the following passage and answer the questions given after it.

At the end of a week, he was able to give me his story.

He was a Lala, a merchant and at one time possessed a flourishing grain
business. Then, he made the mistake of taking as partner a man about
whom he knew nothing. For a few years, his business prospered and all
went well but one day when he returned from a long journey, he found
his shop empty and his partner gone. The little money in his possession
was only sufficient to meet his personal debts and bereft of credit, he had
to seek employment. This he found with a merchant with whom he had
traded and for ten years. He had worked for seven rupees a month which
was only sufficient to support himself and his son. His wife having died
shortly after his partner robbed him. He was on his way from
Muzaffarpur to Gaya, on his master's business, when he was taken ill in
the train. As he got worse on board the ferry steamer, he had crawled
ashore to die on the banks of the sacred Ganges.

Lalaje, stayed with me for about a month, and then one day, he requested
permission to continue his journey to Gaya. The request was made as we
were walking through the sheds, for Lalajee was strong enough now to
accompany me for a short distance each morning when I set out for work
and when I asked him what he would do if on arrival at Gaya he found
his master had filled his place, he said he would try to find other
employment, “Why not try to get someone to help you to be a merchant
again?’

I asked and he replied. The thought of being a merchant again, and able
to educate my son, is with me night and day, Sahib, but there is no one in
all the world who would trust me, a servant on seven rupees a month and
without any security to offer, with the five hundred rupees I should need

Techofworld.In

°9-1 What did Lala find when he returned from a long journey?

to give me a new start’.

SubQuestion No : 19

Ans o 1. His partner was gone after looting him.
# 2. His money was all gone.
#< 3. His shop had been looted.
« 4 His wife had died.




Question ID : 16794326486
Status : Answered
Chosen Option: 3

Comprehension:

Read the following passage and answer the questions given after it.

At the end of a week, he was able to give me his story.

He was a Lala, a merchant and at one time possessed a flourishing grain
business. Then, he made the mistake of taking as partner a man about
whom he knew nothing. For a few years, his business prospered and all
went well but one day when he returned from a long journey, he found
his shop empty and his partner gone. The little money in his possession
was only sufficient to meet his personal debts and bereft of credit, he had
to seek employment. This he found with a merchant with whom he had
traded and for ten years. He had worked for seven rupees a month which
was only sufficient to support himself and his son. His wife having died
shortly after his partner robbed him. He was on his way from
Muzaffarpur to Gaya, on his master's business, when he was taken ill in
the train. As he got worse on board the ferry steamer, he had crawled
ashore to die on the banks of the sacred Ganges.

Lalaje, stayed with me for about a month, and then one day, he requested
permission to continue his journey to Gava. The request was made as we
were walking through the sheds, for Lalajee was strong enough now to
accompany me for a short distance each morning when I set out for work
and when I asked him what he would do if on arrival at Gaya he found
his master had filled his place, he said he would try to find other
employment, “Why not try to get someone to help vou to be a merchant
again?’

I asked and he replied. The thought of being a merchant again, and able
to educate my son, is with me night and day. Sahib, but there is no one in
all the world who would trust me, a servant on seven rupees a month and

without any security to offer, with the five hundred rupees I should need

to give me a new start’. TeChOfWO rld . I N

SubQuestion No : 20

062 After reading the passage one can conclude that it is:
Ans X 1. an informative piece

v 2. a narrative story

/< 3. anews story

< 4. a biographical narrative

Question ID : 16794326484




Status : Answered
Chosen Option : 1

@2 A is NOT required in an informal letter.

Ans o 1. subject
X 2. complimentary close

X 3. salutation
X 4 date

Question ID : 16794326511
Status : Answered
Chosen Option : 2

Q,f Select the correct way of writing the given expression.

The watch of my father
Ans X 1. My fathers® watch
X 2. My fathers, watch
' 3. My father’s watch
/< 4. My father’s watch

T eCh OfWO rI d . I n Question ID : 16794326510

Status : Answered
Chosen Option: 2

Q.2 select the sentence which is NOT relevant to the rest of the sentences that form a paragraph.
3

Ans X1,

Recently, passengers on a plane were joined by two extra feathery guests.

v 2

A post which shows him with the chicken in one hand and a ten-rupee note in the other has gone massively viral online.

p

The travellers were in for a surprise when two men boarded the flight with falcons perched on their arms.

p
A fellow-passenger posted a video of the men and the majestic birds walking along the aisle, stating they were
“emotional support falcons.™

Question ID : 16794326514
Status : Answered
Chosen Option : 4

Q.2 select the most appropriate option to fill in the blanks.

4
Sarah got job in a factory. Five vears later factory closed down.
Ans x 1. 4. 4a
2 a, the

/< 3. the, the




/< 4 the a

Question ID : 16794326515
Status : Answered
Chosen Option: 2

Q.2 ; b e
. Informal language is used while writing:

Ans X' 1. g letter to the editor
v 2. aletter to a relative

#< 3. an application

X 4 an official letter

Question ID : 16794326512
Status : Answered
Chosen Option : 2

Q.2 Select the sentence which is NOT relevant to the rest of the sentences that form a paragraph.

He said youll definitely get the job Shalini

Ans o 1. He said. “You'll definitely get the job, Shalini.”
/< 2. He said, “vou’ll definitely get the job Shalini.”

/< 3. He said, “Youll definitely get the job, Shalini.”

X 4. He said. “You'll definitely get the job, Shalini.”

6
Ans x 1.
These will be standard equipment on cars, just like seatbelts and airbags.
' 2. Most accidents are caused by human error.
X
All new cars sold in Europe from 2022 will have technology to limit their speed.
X o4
New safety rules from the European Union will require new cars to have "intelligent speed assistance” systems.
Techofworld.In
" Status : Answered
Chosen Option : 2
Qf Select the option that has punctuated the following sentence correctly.

Question ID : 16794326507
Status : Answered
Chosen Option : 1

Why did United States join the First World War

Ans X 1. Why did United States join the First World War?
X 2. Why did United States join the First World war?

oéz Select the option that has punctuated the following sentence correctly.




+ 3 Why did United States join the First World War?
/X 4 Why did United States, join the First World war?

Question ID : 16794326509
Status : Answered
Chosen Option : 1

Qéz Select the option that has punctuated the following sentence correctly.
I went to Hotel Ramada which is in Powai to meet my friend.

Ans X1,

I went to Hotel Ramada; which is in Powal: to meet my friend.

X2

I went to Hotel Ramada, which is in Powai: to meet my friend.

x 3

I went to Hotel Ramada, which is in Powai to meet my friend.

v &

I went to Hotel Ramada, which is in Powal, to meet my friend.

TeCh OfWO rld . I N Question ID : 16794326508

Status : Answered
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most

appropriate option for each number.

The Jammu and Kashmir government 1. on Srinagar-Jammu
National Highway for two days every week. Civilian traffic will be
banned from 4 a.m. to 5 p.m. on Sundays and Wednesdays until 31
May.2.  the increased movement of security forces before
and during the .ok Sabha elections and the threat of suicide
attacks. The restriction will apply for3.  Baramulla and
Udhampur.
SubQuestion No : 30
Q3 Select the most appropriate option to fill in blank No. 3.
Ans 3 1. light traffic starting between
< 2. army vehicles moving between
« 3. traffic moving between

< 4. trucks moving from




Question ID : 16794326519

Status : Answered

Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most

appropriate option for each number.

The Jammu and Kashmir government 1.~ on Srinagar-Jammu
National Highway for two days every week. Civilian traffic will be
banned from 4 a.m. to 5 p.m. on Sundays and Wednesdays until 31
May.2.  the increased movement of security forces before
and during the Lok Sabha elections and the threat of suicide

attacks. The restriction will apply for 3. Baramulla and

vaamper.—— Techofworld.In

SubQuestion No : 31

Q.3 L B - - ,
;- Select the most appropriate option to fill in blank No. 2.

Ans X" 1. The information was taken in case of
W 2. The decision was taken because of
#< 3. The judgment will be taken because of

< 4 The decision have been taken because of

Question ID : 16794326518

Status : Answered

Chosen Option : 4

Comprehension:




In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most

appropriate option for each number.

The Jammu and Kashmir government 1. on Srinagar-Jammu
National Highway for two days every week. Civilian traffic will be
banned from 4 a.m. to 5 p.m. on Sundays and Wednesdays until 31
May.2.  the increased movement of security forces before
and during the Lok Sabha elections and the threat of suicide

attacks. The restriction will apply for3.  Baramulla and

viampr Techofworld.In

SubQuestion No : 32

Q3 Select the most appropriate option to fill in blank No. 1.
Ans  of 1. has prohibited the movement of civilian traffic
#< 2. has been prohibiting the movement of civilian traffic
#< 3. has prohibited the movement of army vehicles

< 4. had prohibited the movement of civilian traffic

Question ID : 16794326517
Status : Answered
Chosen Option : 1

Q.3 g
5 Complete the following line.

“My heart leaps up whenIbehold = .»
Ans X 1. yon solitary highland lass
/X 2. aflock of sheep that leisurely pass by
7< 3. a host of golden daffodils
« 4 arainbow in the sky

Question ID : 16794326570
Status : Answered
Chosen Option : 2

Q.3 What is the main ability a teacher needs to develop among children while teaching reading?
4

Ans o 1. To be able to read with comprehension
2. To be able to read words accurately

< 3. To be able to read fluently with speed




/< 4 To be able to read aloud with good pronunciation

Question ID : 16794326579
Status : Answered
Chosen Option : 4

93 Identify the INCORRECTLY matched pair.

Ans  of 1. Ophelia — As You Like It

X 2. Desdemona — Othello

/< 3. Portia — The Merchant of Venice

/X 4 Cordelia — King Lear

Techofworld.In

Question ID : 16794326564
Status : Not Answered
Chosen Option : --

Q.3 Select the most appropriate option to fill in the blanks.

6

Ans

We could barely get any information at the bus stand.
going to Kochi.

X 1. Alot of / any

/< 2. Many / any

' 3 Only a few / some
& 4 Few/no

People seemed to have

idea about the buses

Question ID : 16794326522
Status : Answered
Chosen Option : 1

Q.3 Four parts of the following sentence have been underlined. Identify the part that contains a grammatical error.

7

' 2. was found
X 3. Various excuses
X 4. by the British

Various excuses was found by the British to annex the Indian states.

Ans X 1. to annex the Indian states

Question ID : 16794326533
Status : Answered
Chosen Option : 1

0‘3 i i &
e Select the most appropriate option to fill in the blank.

Ans

Nobody knows from where she comes and where she

o 1. goes
< 2 went




/< 3. is going
/X 4. had gone

Techofworld.In

Question ID : 16794326526
Status : Answered
Chosen Option : 1

Q‘f Select the option that expresses the given sentence in passive voice.

Sana washed and ironed Kavya’s uniform this afternoon.

Ans x-|_

Sana was washed and ironed by Kavya’s uniform this afternoon.

v

Kavya’s uniform was washed and ironed by Sana this afternoon.

p

Kavya’s uniform was being washed and ironed by Sana this afternoon.

/< 4. Kavya’s uniform washed and ironed Sana this afternoon.

Question ID : 16794326540
Status : Answered
Chosen Option : 1

Q.4 Four parts of the following sentence have been underlined. Identify the part that contains a grammatical error.

0

The dacoit along with his two gang members were killed in the encounter with the police.

Ans X 1. along with his

v 2. were killed
7< 3. with the police

& 4. in the encounter

Question ID : 16794326534
Status : Answered
Chosen Option : 2

°1'4 Which of the following is NOT necessary for ‘knowing a language’?

Ans - X 1. Structure
/< 2. Sound system

< 3. Vocabulary
+ 2 Rules of grammar

Question ID : 16794326583
Status : Answered
Chosen Option : 4

Q.4 " . . . . o
, Which of the following does NOT help in teaching speaking?




Ans 3 1. Role play

X 2. Class discussion
+’ 3. Reading aloud

X 4 Class conversation

Question ID : 16794326582
Status : Answered
Chosen Option : 2

%* In which aspect is Indian English most different from native English?
Ans - X 1. Word order
+ 2. Sound system and stress

< 3. Words and word combination
/< 4 Sentence structure

Techofworld.In e eaaesTe

Chosen Option : 2

°;14 “Two roads diverged in a wood, and I—1I took the one less travelled by,
And that has made all the difference.”
These lines are from a poem written by:

Ans X' 1. T S Elliot

< 2. Walt Whitman

#< 3. Emily Dickinson

' % Robert Frost

Question ID : 16794326571
Status : Not Answered
Chosen Option : --

054 Which of the following African authors received the Nobel Prize for Literature?

Ans X 1. Aminatta Forna
v 2. Nadine Gordimer
#< 3. Mariama Ba

#< 4. Chinua Achebe

Question ID : 16794326576
Status : Not Answered
Chosen Option : --

°é4 Select the option that expresses the given sentence in active voice.

You will be given plenty of time to decide.




Ans o 1. We will give you plenty of time to decide.
X 2. We will have given give you plenty of time to decide.
< 3. We would give you plenty of time to decide.
< 4. You will give plenty of time to decide.

Question ID : 16794326543
Status : Answered
Chosen Option : 4

%4 Which of the following is NOT a book by Ruskin Bond?
Ans  of 1. Grandma’s Bag of Stories

/< 2. The Blue Umbrella
/< 3. A Flight of Pigeons

/< 4. The Room on the Roof

Question ID : 16794326554

Techofworld.In rosen o e

Q.4 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the right order to form a

8 meaningful and coherent paragraph.

A. Itis 55 km long and took 10 years to build.

B. It links Hong Kong, Macau and mainland China.

C. The bridge will cut the travel time between mainland China and Macau by two-and-a-half hours.
D. The world's longest sea bridge has opened.

Ans X 1. DCAB
< 2 BDAC
X 3. ABDC
v 4 DABC

Question ID : 16794326549
Status : Answered
Chosen Option : 1

Q§4 Select the most appropriate option to fill in the blank.

Monica speaks English quite although she makes a lot of mistakes.
Ans X 1. continuously
' 2. fluently
X 3. perfectly
< 4. completely

Question ID : 16794326529
Status : Answered
Chosen Option : 1




Q.5 Select the option that transforms the given sentence into a simple sentence without changing its meaning.

0

It is so hot that I cannot go out today.

Ans X 1. It is only too hot for me to go out today.
#< 2. It is too hot only for me to go out today.
' 3. Tt is too hot for me to go out today.
< 4. It is becoming too hot to go out today.

Question ID : 16794326545
Status : Answered
Chosen Option : 3

Q.s . . . .
;> The figure of speech used in the given line is

Roll on, thou deep dark blue Ocean-Roll!
Ans  of 1. Apostrophe

< 2. Hyperbole

/< 3. Oxymoron

/< 4. Personification

Techofworld.In e rezess

Chosen Option : 4

Q.5 In which play of Bernard Shaw is the hero a phonetician who trains a cockney flower girl to talk like a lady?
2

Ans - X 1. Arms and the Man
X 2. The Apple Cart
' 3 Pygmalion
/< 4. Candida

Question ID : 16794326574
Status : Answered
Chosen Option : 2

°é5 Select the most appropriate option to fill in the blank.

I the name of the park we visited in Vienna, but my son does.
Ans X 1. am not remembering

' 2. don’t remember
& 3. haven’t remembered
X 4 didn’t remember

[ Question ID : 16794326525




Status : Answered
Chosen Option: 2

@5 Note-making and note-taking are important parts of

Ans o 1. study skills
< 2. reading skills

X 3. reference skills
7< 4. writing skills

Question ID : 16794326584
Status : Answered
Chosen Option : 4

Q.5 i
.. The minister spoke to
Ans X 1. some
X 2 afew
3 all the
4 every

Techofworld.In

villager very politely.

Question ID : 16794326523
Status : Answered
Chosen Option : 4

Q.5 Select the most appropriate option to fill in the blanks.

6

India’s growth story is driven

Ans X 1. through, of
X 2. through, by
X 3. by, at
v 4 by, in

entrepreneurs and we are trying to remove the hurdles

their ways.

Question ID : 16794326521
Status : Answered
Chosen Option : 4

0%5 Which play of Shakespeare has the twins Viola and Sebastian as the main characters?

Ans 1. A Midsummer Night’s Dream
X 2. The Comedy of Errors

< 3. The Tempest
' 2 Twelfth Night

Question ID : 16794326559
Status : Answered
Chosen Option : 4




Ans X 1. Samuel Coleridge
/< 2. Lord Tennyson

X 3. John Keats
v 4 William Wordsworth

Q.5 “Poetry is the spontaneous overflow of powerful feelings.” Who has given this definition of poetry?
8

Question ID : 16794326567
Status : Answered
Chosen Option : 4

Q,S -
9

Ans  of 1. As You Like It
& 2. The Merchant of Venice
< 3. Much Ado About Nothing

X 4 Hamlet

All the world is a stage and all the men and women merely players™

To which of the following plays does this quote by Shakespeare belong?

Techofworld.In

Question ID : 16794326560
Status : Answered
Chosen Option : 2

Q¢ Select the sentence that has an adjective clause.

Ans  of 1. This is the key I found yesterday.

/< 2. She makes friends wherever she goes.

/< 3. He asked me to consider what he had proposed.
#< 4 I am sure that she will be late today.

Question ID : 16794326537
Status : Answered
Chosen Option : 4

1

Taking off his clothes, he jumped into the water.

«' 2. He took off his clothes and jumped into the water.
7< 3. As he took off his clothes he jumped into the water.
/< 4. He jumped into the water so he took off his clothes.

Q.6 Select the option that transforms the given sentence into a compound sentence without changing its meaning.

Ans 3 1. He took off his clothes therefore he jumped into the water.

Question ID : 16794326546
Status : Answered
Chosen Option : 2




Q¢ Select the sentence that has an adverb clause.
Ans X 1. Tell me how vou got hurt.
/< 2. How he fell down is a mystery.
+ 3. Do not step out of the bus until it stops.
/< 4. What he wants I don’t know.

Question ID : 16794326538
Status : Answered
Chosen Option : 3

Q.6 I 32 3
5 Shakespeare’s ‘Hamlet is a tragedy of:
Ans o 1 revenge

/< 2. deception

X 3. jealousy

X 4. ambition

Question ID : 16794326562
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Chosen Option : --

Q.6 Select the option that transforms the given sentence into an exclamatory sentence without changing its meaning.
4

I wish T had met vou earlier.
Ans X 1. Alas! Why didn’t I meet you earlier!
« 2. O that I had met you earlier!

& 3. To think that we could meet earlier!
/< 4. What a pity I haven’t met vou earlier!

Question ID : 16794326544
Status : Answered
Chosen Option : 2

°é6 Who has written the poem “Bazaars of Hyderabad™?
Ans X 1. Kamala Das

' 2. Sarojini Naidu

/< 3. Rabindranath Tagore

/< 4. Nissim Ezekiel

Question ID : 16794326556
Status : Not Answered
Chosen Option : --

Q.6 Anelaborately structured lyrical poem praising or glorifying an event or individual, describing nature intellectually as
6 well as emotionally is called:

Ans  of 1. an ode




/< 2. asonnet
/< 3. an elegy
< 4 aballad

Question ID : 16794326565
Status : Not Answered
Chosen Option : --

Q.6 Which of the following books by Vikram Seth is a love story set in post-independent, post-partition India?

7

Ans X 1. Two Lives
' 2. A Suitable Boy
/< 3. From Heaven Lake
X 4 Golden Gate

Techofworld.In

Question ID : 16794326557
Status : Not Answered
Chosen Option : --

°é6 The fictional South Indian town of ‘Malgudi’ is a creation of:

Ans  of 1. R K Narayan

X 2. KN Daruwala
/< 3. Mulk Raj Anand

X 4 Nissim Ezekiel

Question ID : 16794326558
Status : Not Answered
Chosen Option : --

Q.6 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the right order to form a

9 meaningful and coherent paragraph.

A. Wildlife is disappearing faster than ever before.

B. WWF further said that most of this was because of “exploding human consumption.”

C. It said: “Earth is losing biodiversity at a rate seen only during mass extinctions.”

D. The WWF says the world's wildlife population dropped by 60% between 1970 and 2014.

Ans X' 1. ABDC
X 2 BDAC
+ 3. ADCB
X 4 DABC

Question ID : 16794326550
Status : Answered
Chosen Option : 1

Q.7 Which of the following novels of Chinua Achebe is the story of an Igbo yam farmer named Okonlwo who lives during

0 the colonisation of Nigeria?

Ans 1. Arrow of God




/< 2. No Longer at Ease
/< 3. A Man of the People
' 2 Things Fall Apart

Question ID : 16794326577
Status : Not Answered
Chosen Option : --

01-7 Select the most appropriate option to fill in the blanks.

It is possible for Indiatobe  fastest growing economy in _ next decade.
Ans 1. the, a
/< 2 a, the
W 3. the, the
X4 aa
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Chosen Option : 2

02-7 Which of the following is NOT particularly essential in communicative competence?

Ans  of 1. Accuracy
/< 2. Appropriacy
/< 3. Functionality
4 Fluency

Question ID : 16794326581
Status : Answered
Chosen Option : 1

°é7 Select the option that expresses the given sentence in passive voice.

Has Avika’s dance performance amazed you?
Ans X 1. Were vou amazed by Avika’s dance performance?
+' 2. Have you been amazed by Avika’s dance performance?
/< 3. Has Avika’s dance performance been amazing?

/X 4. Are you amazed by Avika’s dance performance?

Question ID : 16794326541
Status : Answered
Chosen Option: 3

@7 Remedial teaching is meant to




Ans o 1. improve a particular problem area in a student
/< 2. know the progress a child is making
/< 3. diagnose the learning gaps in a student
/< 4. find out the achievement level of a student

Question ID : 16794326585
Status : Answered
Chosen Option : 4

Q.7 Four parts of the following sentence have been underlined. Identify the part that contains a grammatical error.

5

In Delhi, there are altogether 325 private schools which is built on government land.

Ans X 1. there are altogether

v 2. which is built
/< 3. 325 private schools

/X 4. on government land
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Question ID : 16794326535
Status : Not Answered
Chosen Option : --

06-7 Which of the following collection of poems is written by Walt Whitman?

Ans X 1. A Witness Tree
/< 2. A Green Bough

v 3. 1eaves of Grass
/< 4. The Marble Faun

Question ID : 16794326572
Status : Not Answered
Chosen Option : --

@7 “Much have I travell’d in the realms of gold
And many goodly states and kingdoms seen;”
These lines are from:

Ans X 1. Percy Bysshe Shelley’s ‘Ozymandias’

X2

William Wordsworth’s ‘Lines Written a Few Miles above Tintern Abbey’

' 3. John Keats’s ‘On First Looking into Chapman’s Homer’

7< 4. Samuel Coleridge’s ‘The Rime of the Ancient Mariner’

Question ID : 16794326569
Status : Not Answered
Chosen Option : --

Q.7 For which of the following books was Aravind Adiga awarded the Man Booker Prize?




Ans

' 1. The White Tiger

/< 2. Between the Assassinations
& 3. Last Man in Tower

/< 4. Selection Day

Question ID : 16794326555
Status : Not Answered
Chosen Option : --

Q.7 *Out, damned spot! Out, I say! — One: Two: why then. 'tis time to do't. — Hell is murky!” — This soliloquy is spoken by:

9
Ans

1. Julius Caesar
' 2. Lady Macbeth

X 3. Othello
/< 4 Hamlet

Techofworld.In

Question ID : 16794326561
Status : Not Answered
Chosen Option : --

Q.8 . . "
o Select the most appropriate option to fill in the blank.

Ans

Although we arrived late at the theatre, we
v 1. could

/< 2. might

/5 3. can

& 4 would

get a good seat.

Question ID : 16794326531
Status : Not Answered
Chosen Option : --

°1'8 Which figure of speech is used in the given sentence?

Ans

Laughter holding both her sides.
< 1. Apostrophe
< 2. Metaphor

v 3. Personification
X 4 Simile

Question ID : 16794326552
Status : Not Answered
Chosen Option : --




@8 Which three steps are most crucial in lesson planning?

Ans Jy

Stating objectives — providing learning experience — evaluating

X 2

Presenting the lesson — diagnosing the problems — providing remediation

p

Warming up — presenting the lesson — diagnosing the problems

/< 4. Stating objectives — warming up — presenting the lesson

Question ID : 16794326587
Status : Not Answered
Chosen Option : --

Qés Economic offenders fly to a place where they think nobody can catch them.

The above sentence is an adverb clause of
Ans O 1. manner
< 2 time
X 3. purpose
« 2 place

TeChOfWO rld . I n Question ID : 16794326539

Status : Not Answered
Chosen Option : --

Q.8 Parts of a sentence are given below in jumbled order. Arrange the parts in the right order to form a meaningful sentence.

4

A criminal cold cases are now being solved
B. with new DNA forensics technology

C. from a single drop of blood

D. that can create facial composites

Ans X 1. CDAB
« 2 ABDC
X 3. ACBD
X 4 BDAC

Question ID : 16794326548
Status : Not Answered
Chosen Option : --

0.8 . " "
. Select the most appropriate option to fill in the blank.

Youlook  wou have not slept.
Ans 1. 30 as

< 2 even if

/< 3. so that




v 4 asif

Question ID : 16794326524
Status : Not Answered
Chosen Option : --

Qés For testing reading comprehension abjectively which form of questions are the best?

Ans X 1. Short answer questions

' 2. Multiple choice questions

/< 3. Very short answer questions

X 4. Long answer questions

Question ID : 16794326586
Status : Not Answered
Chosen Option : --

Qis Which of the following plays of Shakespeare is known as a romantic tragedy?

Ans  of 1. Romeo and Juliet
< 2. The Tempest

X 3. King Lear
< 4 Antony and Cleopatra

Techofworld.In

Question ID : 16794326563
Status : Not Answered
Chosen Option : --

Q.8 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the right order to form a

8 meaningful and coherent paragraph.

A. This vear will see one of the worlds biggest ever dinosaur digs.
B. Researchers from the USA, England and Holland will join the Mission Jurassic team.

C. The dig is called Mission Jurassic.

D. Paleontologists from across the globe will go to a special site in the U.S. state of Wyoming to join the dig.

Ans X 1. CDAB
X 2 BDAC
« 3. ADCB
< 4 ABDC

Question ID : 16794326551
Status : Not Answered
Chosen Option : --

Q.8 o B - :
o Select the most appropriate option to fill in the blank.

This was the

Ans X 1. very boring

film I have ever seen.




+ 2. most boring
/< 3. more boring

/X 4. boring

Question ID : 16794326527
Status : Not Answered
Chosen Option : --

069 Select the option that expresses the given sentence in active voice.

Luckily, the bov was not drowned.
Ans X 1. Luckily, the boy has not drowned.
/< 2. Luckily, the bov had not drowned.
/< 3. Luckily, the boy was not drowning.
« 2 Luckily, the boy did not drown.

Question ID : 16794326542

Techofworld.In

Chosen Option : --

Q.9 For which of the following books did Ernest Hemingway get the Nobel Prize for Literature?
1

Ans o 1. The Old Man and the Sea
#< 2. For Whom the Bell Tolls
/< 3. The Sun Also Rises
&< 4. A Farewell to Arms

Question ID : 16794326573
Status : Not Answered
Chosen Option : --

Q.9 e - .
, Select the most appropriate option to fill in the blank.

Our holiday was too short — the time went by very
Ans X 1. seriously
X 2. carefully
V' 3 quickly
/< 4. heavily

Question ID : 16794326528
Status : Not Answered
Chosen Option : --

Q.9




Select the most appropriate option to fill in the blank.

We have enough. You buy any.
Ans X 1. may not
/< 2. cannot

v 3 peedn’t
X 4 will not

Question ID : 16794326530
Status : Not Answered
Chosen Option : --

Q.9 Four parts of the following sentence have been underlined. Identify the part that contains a grammatical error.
4

When the moon comes directly between the earth and the sun it cause a total eclipse of the sun.

Ans 1. eclipse of the sun
X 2. comes directly

v 3 it cause
/X 4 between the earth

Question ID : 16794326532
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Chosen Option : --

%° ‘The Rime of the Ancient Mariner’ by Samuel Coleridge is:
Ans 1. an epic

v 2 aballad

X 3. anelegy

& 4 an ode

Question ID : 16794326568
Status : Not Answered
Chosen Option : --

Qég “If winter comes, can spring be far behind?”

This line is from:
Ans X 1. Ode to Grecian Urn
v 2. Ode to the West Wind
/< 3. Ode to Winter
< 4 Ode to Autumn

Question ID : 16794326566
Status : Not Answered
Chosen Option : --




Qf The use of substitution tables was an important teaching aid under:

Ans X 1. communicative approach
' 2. structural approach
/< 3. grammar and translation method

X 4 direct method

Question ID : 16794326580
Status : Not Answered
Chosen Option : --

Q9 “Hope™ is the thing with feathers -
That perches in the soul -
And sings the tune without the words -
And never stops - at all -

These lines are from a poem by:
Ans o 1. Emily Dickinson
# 2. Robert Frost

/3. TS Elliot
/< 4 Walt Whitman

TeCh OfWO rI d . I n Question ID : 16794326575

Status : Not Answered
Chosen Option : --

Qég Select the sentence that has a noun clause.

Ans 1. This is the place where Gandhiji was born.

' 2. My only wish is that T may serve my country.

/< 3. Wait here till T come.
/< 4. He fled where nobody could find him.

Question ID : 16794326536
Status : Not Answered
Chosen Option : --

Q.1 Parts of a sentence are given below in jumbled order. Arrange the parts in the right order to form a meaningful sentence.
00

A. to reserve seats for EWS category children

B. reiterated in their lease document

C. as per conditions

D. Delhi High Court asked all private schools

Ans X 1. BDAC
X 2. ACBD
X 3. DCAB
v 4 DACB




Question ID : 16794326547
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Chosen Option : --




